JAIST Repository

https://dspace.jaist.ac.jp/

Title

iUy UUg o

good
Author(s) oo, 00
Citation
Issue Date 1997-03
Type Thesis or Dissertation

Text version

aut hor

.net/101p09/1067

URL http:/7/7 hdl handl
Rights
Description Supervisor: gooo 0Od, ooooooo oo

AIST

JAPAN
ADVANCED INSTITUTE OF
SCIENCE AND TECHNOLOGY

Japan Advanced Institute of Science and Technology



O o o

ooooogo
oo ooobooboon

oooo OOoo g od

oboboboboooo
gogdbgbgogogobood

o o

19970 20 14 0

Copyright (© 1997 by Ryota Takei



1 0Od
L1 DOO0O0O0O0O0O0O0 .. e e e e e e e
1.2 000000 oo e

2 Dugboobooboooo
70 R I I O
22 OUOUOOOODOOOO0O0O o0
2.3 U0 o e
24 0JO0O0O0OO0O0ODOOOOOOOO .00 oo oo,
241 000000000 .00 000 o o oo
242 0O0O0O0O0OO0O0OO0OO0O ..o s
25 UUOOO0O0OO0O0OO0O0O0O0O0O ..o
25.1 XOR . ..o e
252 UOUOOOOODOOOO0OO0O ... oo oo .

3 Uogn
5 0 I I
3.2 OUOUOOOODO ..o
3.2.1 UUOOOUOOOOOOO .. o
3.22 DOOOOOOOOO . e
3.23 OUOOO ... oo
3.3 UUOUOOUOOO0O .o e
3.4 O0O0O0O0O0OO0 ..o s

10
11
11
12



3.4.1 BPUUOOUOUOOOOOOO « ..o oo s
3.42 DOOOOOO ..o e
3.4.3 OUOOOOOOOO0O ... 00 oo o .
3.4.4 OUODOO ..o

4 OO0
4.1 FrCUOO0O0O0O0O0O0O0O0O0O .o s
4.2 DOO0OOO .o e
42.1 OO0OO0O0DOO0O0OOOO ..o
422 DO0O0OO ..o
423 DOUOOO .o
0 I I
44 000D0ODO0OOOOOO0O0O ... e
4.5 0000000000 ..o e e e
45.1 DO0O0OO0O0O0O0 .00 s
45.2 DOUOOO .o
4.6 DUOOOOOOO ... e s e e
46.1 FIBPUOODOUOOOOOOODO ..o oo oL
4.6.2 DOUOODO ..o

5 Dudbooobon
5 0 I L
5.2 DOUOUOOODO . oo
53 UUOUOOUDOOOOON oo
5.4 UL oo e e

6 U0
6.1 OOUOOOO ..o
6.2 OUOOOO ..o

i



] 1 [

U

1.1 Jgooggogo

gobobgbobbgdogbdoobobobouobnouonbbuoooon
gubdbobgobubouboboddbooguboobobobobooobooon
goouoooodgodd

gobobgbobbodobbdboboboboboboooboonooogn
gogbdoobooogbobobooubobobouobonobnobuooogn
goougobboudgbogubobogdouobouboboobouboboomoo
gbogbuoogbobooogoobbooboboboooobobuogoobon
gogboooboobodbgboogobooubbboobobbbonobogn
godobdbgboboogobobobobobobobobbobouooobbobg
gubobogugbugbgguboooboobooobobobooouonoon
gboogbugboogboooboooonbg

godoubogoboooboogboobbuobooboobobboobouboo
gogbbobogbboboboboboboboobbooobobonoboon
gogbddobdoooobnooooboobobobobooobobonbooooon
godbogbogbooboooobooboobobobooooobobobobon
godbbgbboubgoboubdouboobouboobbboooobonoon
O0000o0oooo (FTCO)DO000CDO0OOOO0OODOOODODOOOOODOOOODOO
OO0o0O00oooO0o0o0Oo pjuoooooooooooooooooooorTCOO



gougbodobooboogbbouboubbooobooooboubouobobooa
O0D0O0O00ONOboOO000000dd0o0ooooooDobObObO0ooooooogooo
gobogbuoboooobgoboobogbooboobobbobbobbogon
gobgbgbdgudgogooboubouobooboobobobbboobuonoon
godgdogdbobguubgbonooboubobobnobobobobnoogn
godbduoogboubgbobouobboobobobobobobobooouooan
gogoouggbobdogooooobobad
bddtbiNenOOOooooooooooooonoooonbooonooonn
gogooougoogbgbgbodboooboobobobobobonouoga
goodgbougooubogbooboooobon
gobbogbbooubobooguoobbobbbooboobbbobbobon
gobbgggbobotdbgbooogbdgbooouoobobooobobooa
googogbobgboboobobobbobobobuoobboboobobooon
googoooboogbodgod
gouogboggodboobbgbooooboboouboooonbobbooo
gbobboubogboobboubooubobboboobouoooboobboon
gobdboobotobobobbotobobobobonobobboboboboogn
googodbudgbodgboggbgbogbobonbouboboobbo™mgoo
gouodgbugoogoogboooooobg

1.2 OJUO0OoO0OO0O0O

girogboogbogbdaood ob bgbodgbodgbogood

g200dbbogboguboobogboguboobouboonbooboooooboouaoa
gub3pobdogogoboougobiobobooogoobobbbooboo
gboobboogoobogobogo

g33dggbogoouoonoogonboguogbogn 20bbgobooooooo
gubdbgbdbgbobooobobooubobobobbuobobboabg
gubobbbgobobbbodbubbobouboboobobobooon
gbodbooodbgubouooobuooobooboobobnboboon



gbdououbboobgubobudboubobooboooobboooouo
gubgbooogbdobdgdabo

gobobbbbodgbodgbgubobboboubooboobboobnooon
guougoguboodoooooonououbbooouobobonon o

40000000000 OO0OLOULOOUOOLOLOUObLDOLOOUUObLUXOR, OO
gubgobgouogogooo thpgbgbbouoboooubgoboog
gbodogboobodgbogubgbobbobbobbooobogbonn
gbdogbogbbgbogbogooagad

gbogbo3sggoooboodobbobobobooobonooouboooua
gubdubobgubobgbgubbbobuogbobbuboboboobo
goobguogubogbogboobod

gbogbobbobogboguobbboboboobouoaa sugbobo
googgoo

gsubbgbouudgbodbogbogbuooboobnoobooooobbod
goobodbodbodboboobbobnoobooboboobbonoo
gbodbobbobodboubobobbobbubooudboubong
gbbogbooboobobobobboobobobobooboonbd

elUUDUOUDOooboouobouooouobobodgbogd



] 2 [

Juobdodoodon o

gobdggbuoogbobuoboogoboboobboboobouboouboo
gogbobogbgbtbgooooobpbooogbobobbboboboooon
googoogd

2.1 JUobootdoouobtdudoot

gotboboodbooooogbgbgboboboooboboaoboobobod
godbooogogbgbgooogbbubgbonbogooboobnonoon oo
OD0O0O00O0DO000000000 (2.1)00ooooo

a=f (Z w;T; — 0) (2.1)

0O UD0OO0OODOOw UOOOUOOLDOODO0O0DMM fOO0OLOO0ODOn
goooooooaood

f(u) =

1 if u>0
0 if u<0

googg



goooodod

= 2.2
gooooooon
u u
1.0 1.0
0.54+ 0.5+
| | | | | | | |
T T T T X T T T T X
4 2 0 2 4 4 2 0 2 4
goooooad goooooad

goboooooooon

g 210000

godbuggouoooboooogbog 2bogbouogoon

e LD UOODOODLOOODO

e DO OODLOO

bbb oogobbooonbbooogooobo
bbb obobugooboboobooonobnbooboobon
gotbububogoobdgbgogbooboboboboobuobuoboboo

gobdbdbdgbobbbbodoobobobobbobobobobooooon
goggtubogbobobgbboobbbobonooboboobobobobogn
goougubodsbgbgbgab oo oboboboobuon



g 22 00ogodgd

2.2 O0O0OO0OOOOOOOOO

gobdgubooobobbuggboubgubuooogbboobouboooobiboo
gogbogbbgbdbooobboobbbobobonoobobonoboogn
gudodogboogud 220 -0000000000000 0,0 00000 Huw,
:0puguooddtbeugbogbboguobbououboubouonoonon
gobguboguogubobgbboobbooboobouboooboobboon
gogooooo

gogboboooobogbobbbdbobobobooboobobobobood
gubdouodgbobb23b0ddboguonoobnooaad

023 000000400oog

gododbgbdgbobgbobbobuououououooboboonoooan



godboougogbogub 230buuog 2000 sgonooo 200n0od
goguouggbgbbbdoodg 232000000 booobgbobagn

goddbbgbobobobooobboooboooobooobobooabobgn
godbdoodobobuogoooobubooboboooouobnounooogn
gogbdoubbgbgbonobogboubobobouonbbobubuoboooon
bbb ooubboobobubooooouobnboob oo
gubdogoboaogad

2.3 OO

gobogbobbgboooobogubboogubooobboonbooooboo
gobgubodgbobogooobbboboubobboooboboooooooboboon
0000000000000 @PO)0000O0OBPOLO Rumenlhart 0000000
gubdbobogbogogbgboboobbobooouoboboouonogn
godgodgbogoogboboobobouboboubobuoobobuoosr U
gogoboboobboobboobd BpObODOO0OOooOBPOO0OLOOOOoOg
guodbogbooodboobooboobaoboobgad

ppUboobogbogogbooboogbboooobbboobobogbda
gubdogbodbooobnogbobobobouoboooo oo oooobooan
oot gbobobbobobonoooon
gogubdubogobouobgbbobobobooboobooboobooboooo
gooobbobbootgbouboobobbobboobboboobooboobbd

godutdpbdbobgbgbobabogbobdu.ogbgbugbobogo
Ooddd e, 0000000000000000000 «,, 00000000000

B = 3 (b — ap) (2.3)

2 Pyt

ot pOUudbgbooogbgbbogbonbogboubgbogooo ;o
DDDDiDDDDDZ—IDDDDDDjDDDDDDDDDDDDDDAw%DDDDD
gogogod



oE
I _
Auly = ~g,r

1j

(2.4)

O0O0npO0000D0DOO0000000OCO0O0O0O000 (240000D0O00O0DOO

goguodgaod

oE

= t;—a;
8(1,’ “
OE  OE O

(2.5)

(2.6)

DD%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

goodgooggodn

gooobodoogonogogoagn

oy — ()
Plu)= s = ) (= fw)

0000(2.6)00

OE
8’(142' B

(tl — (1,2')(11‘(]_ — ai)

%2 QpOO0000000000002E00000

awij N (9’(1,1 (911)7;]'

gogd

(2.7)

(2.8)

(2.9)

(2.10)

(2.11)



HEN

8ui _
ow.: a;”! (2.12)
ij
(2.9)(2.10)(2.12) 0O O
OB~ (t- a1~ e OOOT (2.13)

v

= a(l—a)> wii's, 000000
k

godoodbdgodbdboboboboboboboboooboobooobon
gogbdbdboodbonobougubouobonoooooagbobaooon
googon

oE

8102']'

t

szj = -7

+ aAw? (2.14)

gboooubgboubguugbuoubouooboooobogbo 2b00boogdad
cgbogbogoboobobobouibugoobobobon

24 UO0O00O0OOUOOOOOOODOOOOOCO

OO [jooobo00o0dboobbDOooobooboobO0oo0oobObooooDoooD
gogoon

2.4.1 00O oOoOoood

1. googoago
gbdgouobbooobogbobuobnbouuobouboobobboobobo
gubdboboubobouboubobobooon

2. 000b00obon
gbogbobbobuogouubooooboooobobooboubono



gbdbobdoboubdobooboobbobouboobooboobonbo
gubdbgbdbbobobgoboboboobobbuobuoboboobg
gboogbodgod

LUgbooooguod

gbdbogbooboubuobooouooboubuobboobobnbouo
guobogoboooo

Lgboooooood

gudgogbbogbboboogbobooboobouboboobogbono
gbgubbooobooouoboobboobboooon

Lgboooobobobbogboadn

godguodgubgbbobuodgbgbuogogoboboobouooboooon
gbogbdbogbguooboobouboboubogbaobbobooo
gbodboboboougboubobobbououboobuobuoboooo
gubdobobdgbgoboogboooobogooobouobobobounbg
gboooboobodbdgb400b00bgobbobbod

Lgoooood

gubdbodgboubobgubuobobouboboboubuoboboobg
gubbdgbddgbuboboboooobobobooboobobobbon
gooobooboobobbobobobooobooboboobobobobobo
gopoobobobobobooooouobouobuobobobon

Logooobgo

gbodbooogbouobobbgbbobbooboobbooboooobono
gbogbdooboobobbgbbogobbgbboobboboobbobogod

2.4.2 UO0O0OO0OOOOoOoOgd

O0D00O0D0ODO0O0O0OO00OBPOOODOOOODOOOOOOOOODO 17100
guopobbbobobobobooooog

10



ool dbotoogboboubobouooboboubbooan
gbboububdgbobobooboonbogag

goggbdgobb boboobobdubobboobooooboooo
gboboododbobooooobonoobobobooogbooogn
gbooogooboguoobuonoboboubbobooobobogn
ggogd

gobbodood goooobbboobbooboooobbooooono
gboopoobdbobobbobuobobobobobooobouoboood

gbooodogodd ppodooodobodbdgogooooonodn
gbooogbogbdgbooubboobgbobouboboboooood
gudgouboooougoboooon

2.5 UUO0OoOoooooooooon

2.5.1 XOR

XOorRU oo 2000 1gbgogo4bgbbboboouogbogoobobnon
goodbogobgbooobounoobogbouogoa

U 1:XOR OO
Pat-No. | OO OOOO 000000

0

_ = O O
_ o = O
S == O

1
2
3

gboobbdgbubooboaonuobouboobonoounbooboous
gogbguoobobobbbooobobobuoob 20bbgogboooogo
gobgubdgobgbubogubobobbobooobouoboubooobbuoon
googbbotgboobagboobgd

goboboboooddb ANDO oOrRUOUDUObDOO200000boonoooonbboo
godbdbgbdbdbonogouonooobobooboboobobgoboogn

11



goxoruobouguooooobobooooooos22ibnguogognogooogn
gobgogn

2.5.2 JOUOOUooobooooood

god Xxorgoooooogooouodbobouoguooobobouogn
gbbdougubbogubboguooooboboobbooonbooooo
gobdogooboodbbogbobobobobodobonobnooooooon
gobgubogubouboogboboobobbbobguboobouboobbooog
gootgbobbbdgbuooooooogboubobodooouobonbono
gobbdbooboboogoooboobobboobobobonbbonoobon
godbduodboooguooboobogbobobobobnbooouboooooon
goggoubogbgbgbgbobobdboboboboboobbuobubao

godgbogodbodoubodobotdbobbby=050000000000 0.1
godgodboudgboougoouboboooz2ubg2bd™igbogroood
goooboogboobogd

x=1

024 00000: 0000O0O0O0ODOO0

gbogbogodbobobboobbbbboobbboobobobbbg2b000
googooood

e UDDOOOOOO

o LD DOOODOOO

12



09
08
0.7
0.6
05 - * * * *
0.4
03
02
0.1

0 0.2 04 0.6 08 1

U 25 00000000000000000O0

0000000000000 0000000000 («kxLl)ODbOOooopoooooo
gbodbogbogobbobobobobnoobobobobnoboboonoboogn
gogbddobobogubouoboubooboboboobonobnouooogn
godgbodobobobogbooboobooobobobobonbobonboooon
godbbodgbgbobbxbOyOuoborobobobobogoboooboo

gogobobgboooobogbboboubgogobbooobo ooty
godbdogbobooogboooouoobouobrboboobouboboauo
goobi1dgbbooobbobbogbbgbooboboobbobboobooun
gobugbbgobouboobboobbobobouboboobooobooon
gboogobogogbooobobbdoboobobrgbobouboboobbo
goooboobbobbdbotobodbooouoboboubobooboidgob
guobodbgugbubooubooboogbobouoobobobobobogboog
googoogoogoon

guobububdbgbbboboboboobgogboboglribubdy=0500
gobodgbbogdgbbodb cobggobodoboubuobbbtied 1000
goutbbogobgbbogbbooubooooboboun 2ubogboouobo
goodbougougoouboooouoboonog

gobbbobgboggooooubobobbsbob40b0bobobobod

13



09
08
0.7
0.6
05
04
0.3
0.2
0.1

L ‘ ‘ ‘oo
T e O . . . O . . ... ..
o o ‘ < ‘
" " o " " o
,,,,,,,, 0-----00g% g 00
} 0 o ’
0 O. 0 o . lo)
e 05 o i res =t e
° ‘ ‘ o ‘ °
———————— g0 o
e Lo " e Wt o
""""" o o e oioooe
. . . ° . ®
L e I o .. OO’O
o e . o
,,,,,,,,,,,,, o ... ... 9 : o.. ..o ....0
o ° o ;0
o o) . O 06‘
L. ° . 8,,00,: ,,,,,,, [ o . .
05 %0 o) :
o o ‘ o
,,,,,,,, e TR I « BRI
0 o o ) o
o © fe} 1 O
0 0.2 04 0.6 0.8 1

026 00000

googbogooogdn

14




1 3

HENREN

gobdgubbguboouboobouobooboobooboobobboaa
gbogbobogboobgbooooobobobboobobobobbbooogodn
gubodgbobodggbodubbooubugoboouoooubobbouon
guodbogubbod2bdgubbooonboobnbooobbuoobbobbooon
gog

3.1 0O0OO0O0oon

godbgbodgooubuouogbooboboboobobuboobouoobon
gboddbobdooobobobwwobobboboboooobooboooon
guoboubbooboouboobbboobobbobbooboouobooboobon
goobgbbgboogbbotbbogboboobd

OoooooOoooobooooooooobooboobObb(obbobL)oo0ooUooobo
gooobugbobguouboouoobboobbuobbobooboooo

guobdgubbooubobooobuobiboobsggbooboooobounooon
googbogbooboobogbogon

15



3.2 0O0OO0OOOOO

gogogubogbdbdbobobobuouououobooboooouoboonoan
gobbogbbogbogbbbobbobboboobboobgubboobboon
gogbobogoubggobobogboobgboboobgbdgbobobodon
gugboooboogbobgbogbobobooobbobobobobbbononoon
gbogbgoguogubnbgbogouogbobgbonobnboboooonogn
googbougoouboouboobaoboad

gobdgoubguobooubooobobboboboboubobooobboooboa
gogobbbobobogboobtobooobobboobobobobobonooogn
googoogooo

3.2.1 O0OO0OOooooood

gobogobobouobouboguboobbbooboobbooboobouobgyd
gododbobobooooooobobbooboooboobomobbooboboon
googougboogbodgod

1. 0oon
gbogbdgboboobdgboboobdobubobboobobobbooboon
gubddoboogbuobouboubobobobgon

gbogbgboubbogoouo3sbugoobboubonbbooooogaod
gbdodbobbobodboubobogboubonooboboobogon
gbogoobooboubobogboubobbooboobobnboobobo
gubdbgbobobobooobobuoboboboboooobbobobod

guootbbobbooboobouogboobobboooobbooboobono
gbodgooubbgububouboguobouboobooougbono
gbogboogbogboogd

2.000000
gbgobgbdgbouogouooboboboobobbobobbouooou o
gbogogbobodbodbouoguoubouboobbooooboobogn

16



gbdgbogbodboubobuodbouboobbooboobobnbobboougo
guogoooogad

gbotdboooobbobobogoobogoboobobooboobono
gbogbbbobogbodbooougboubbobooboouoboubooo
gbodggbooobooobogoo

3.2.2 QQOOoooooog

godbgbobooooogbbbobooboboonooobobobob 30
godbdoogobogbgbouggbouboboubogoobbboobobogo
goooooogd

1. googo

2. 0gbooboobooboobuooboobogn
. 0ugbbooboobodod

4. 0O0Ogoogo

5. b oono

6. LUoouoogno

7.0g0oo

gobooxorboooood 24-10000000000000OLO0O0ODOOOODOO
gogoooogbobobobobbooboboooo

1.00000

gobgbobudbgubobobobobobobbobnboboubooboon
subuubogubogbuodgbobuuobobuoobooboba 2bbobogo
ERERE

godbobogboboboobobooobobgboboobobooooobgn
gogugbdabubugbogbobouoooobonoobbbobobooogn

17



ggodooooobgboboubobobobooobobobobnonboobobo
goguoouoogbdobdd

gogbogbobgbobdbobobooobobobbboboboboooon
gogouboabgoougoobobobobonooboboonbobounooogn
googd

oo oobobuouooboobbobooooon
gouugobogboubooboooooobbooboubougooboooon
gbogbdobbogboboboonobooboobobobobnobnbobboboooan
godbdodbooogogooboboboboobobnonobuoooooan
OO00oO0000o(¢rTBPO)00000O0O0OOOOCDOOODODODOOOOOOOOOO
O0D0D00000Oooooo o

2.0000b0000ooon

godbobodboooobdobooboobobbboobbobobobbobo
gogogoguogogbgbdoboobgbgboboboubooubaoboono
guodododbobdboboubuubobobooobobooobnbouooa
goguoouogbgobgogooooo

gobdub xXxorbgoobouobgbooooooboobbooooob sagoooo
goobdbogboi1bbogbgbd2b0bouogstgbobot40bobogn

0,0) ,1) 1,0) (1,1 0,0 0,1 1,0) a,n
AFa—y AH8—

0 3.1 0000o0aoo

gboobodbd3ingoab2gbogoobugubooboboobgbbogb
goodgbogoouboobogbaobon

18



googbuuoguoguoogoobon

- .= 7)? 3.1
T o Xi:(iv z) (3.1)
goodotdzOoooooo s
_ 1
A ;(:vl +ao+ - ta,) = sz (3.2)
S = Y-af=Yal- (% ”’Z) (3.3)
gooooooogo

Pat-No. | U0 0OO0O0O (OO00OOO0O (OO-0O0 |(O0-00 ||d0-00 |0O0-00
0 0 0 0 0.7135 | 0.1262 0.0831 | 0.000357
1 0 1 1 0.7376 | 0.1513 0.3911 | 0.204249
2 1 0 1 0.6911 0.1672 0.3724 | 0.187293
3 1 1 0 0.7857 0.1290 0.0734 0.002120

godbgbotbubooguoboooooooboobobobboouuouoooaon
gobodgbouooobbobooboobboobobboobbobbobbooon
googoogd

oot obbobobobuooouooan

goboouboobobdbgoguboboboboboubuobobobo

Jobodododogod

00 No. 1 2 3 4

00-00 || 0.740068 | 0.770547 | 0.719788 | 0.697689
00-00 | 0.18143 | 0.147514 | 0.147083 | 0.100494
00-00 || 0.207936 | 0.247019 | 0.241373 | 0.223857
0DO0-00 | 0.106534 | 0.145728 | 0.171801 | 0.0918071

gododogogbogbouooodogogogoobobobdgboogogn
godbdbobguogbuobgbobobogouboobobbdoubobooa

19




gbogbduoobboobogbogbobuobouobnbooboboobobbobobooboon
gobggbbooobbbobboubouboubbbooboobooubooon
googobogboodgbon

goobbdbodgbguogbouboboobobobgbouboooonoaa
godbduoobbogbdoobobobouobnboboboobobbouoboonoan
gobgubgdobogobdobotbobooboouboobouboboboobo
googooo

gboguubouotuguobboggbobobobobobos2unouooogd

S~ o
T

HABAR
(=]

—
-£00) _~@©1r (1,0)\(11) 1Lk,
// N
-4 L AN o =

-6 00 0,1 a0 a.n
ARNE—= ANE—

\ g

032000000000

guobogbooboobboboobbooobobobobobooboooboayd
gogobdboodobobogboboobobobobobooboboooooogb
googbbobbbtgbogbboboboobbobboobobboobodgo

200 gbguobbogubobuobbonouboubobooboubbs.2y
gbooggboodgbogubuogubooubuoouboouboobbobg 3200
gobodgbbubooogbobboboboubouboobouboboobouon
gogbobobotobgdoboobobbonobbobobbbbonobogn
googoogoogboon

. jougbogboogod

guobdbgboduooobgbooboubobouoooooooboxorood 1d
gogbobobboobgobobobobonbbobobobobonbboobogn

20



guoxorboooobobuogoboodboobo1ooobooobobobooon
gobdbobgobbubgobooboboobogosbobgdosbliobg
gobgbbdoboboobboboobboboobooobboboobboobn
gobouobooogouooobobobooobooobobobobobobobbbobo
gbboodboddibUbAND DO ORUDOOOOObDoog 33bguodiie
i1iddotoubuobobobobon

N c \\ ‘
0 v h SEDD\ COLH

(3) AND (b) OR

U033 000000000b0obdabd

good

/ oooo

0 3.4 XOROOOOO

200 1g0bugb1gboooboduobuoobbssggbbouoobooad
ANDO OROODODOODOODLOOD1O0bO0ObOobOobObO0O0bLOob20b00b
gobi1gbodbboobotobdbdoooooooboobooooboboooboon
gbobobobobooboooooxoruooobobos4aobobobbbobobo 2

21



gogodgbotbubrgboubgbobnboubobnbououbooboboon 2

guobgbboboobobdabubbuboboobouoboxoruobooooooo

googon
gbooobodsagbogbogbodogobobbooboboobod

std_file std_file
t

U 3.5 U0udoogoogod

Xoruuooguoooubo 2o boouboooboooassgooug
goododgooubobogbuogbouoz4-1gubbooobo4b0obg
guobgubgbobotoongobooboduoboobobbobooboob bo
gbogboboboobgbooobobobobobobtoobobobbobooon
gooudgbugboogbogboobbooboobobbobbobbobbooo
4. Jgogoog

guobogbboubotooubodboubooboobboobobobouboad
gogobubogbobdbogoobbbbobdbobooboboboboooo

wa’f ? (Z wszf Zw?,iz,lc ) (3.4)
ddoodogooooooddd

22



I = Zw Zwﬁzi (3.5)

J = Z wiix (3.6)
k

gogububogbdbdggbubuoooobgboboobobobod

oooo2Y g
ot

goooboog

doj _ Of(I)
oL~ adl (3.7)
a1 a1
_Of(I) 0, wii0s
01 o1} (39)
= f’(I)Zw?faf(.;]) (3.10)
7 01y,
of(J) _ of(J)oJ
oir  9J 0l (3:.11)
— J(ul (3.12)
803 5221 f
o = Zw wi f' (3.13)

gobogoboooobboooubbooouoooobobogubuoobbooaa

ggboogbboboobbooboubboobouboubooboboobboon
gobbogubogbbogbbooooobbodbooobboogn f%J)uﬁ%
gooougutgoouboubouboboobbobboboobboo

5. Jugouogn

goboobooobobooboooobooobobooooooobooboobnoboa
gogubogbogbgbonogooboboboouooboboubuooogn

23



gogbddobbogboogobooobboobobobobobboouooooon
goddbobdgbootuoobobdwwooboboooobooooooobooooon
gbogbodboboobogboobi1oggoobbgboogbobobobnoooon
gbooogooguoo 2bddbogdgoo 2b00ggooogbognoboonoo
googoogboogbogbogbogda

do}
1
01y,

= >_wiwi[f(DF(T) = FIPf(T) = FDF)* + ) F(T)7] (3.14)

J

goodgbouoooogboubuooboubaouogan

) = Y wP)FI)1- f(7) (3.15)
(1= £(1) Y w2 f ()

{1=2f(1) = f(J) + 2/ (1) f(J)}
+{1 = F() = 2f(J) +2f(1) F(J)}]

6. Jouooboogood

1guobgoogbgoboboouboboobobbuoobooooboooban
gogbgbobobobonogobobobbgbobobobobonbooogon
gobdbobodbuogbogbobonobgouboobobbobbobooooogn
goougbugboubooonooboboobbobboboobogo

doodgoodgood
o | oo u g

Al ODOO-000 |[3.241 | 1.249 | 25.076 | 85.428
b -000 |3.521 | 1.464 | 20.281 | 62.149
gooobodn |3.324 | 1.322 | 23.026 | 75.525
B| U0O0O-000 1|3.312]0.890 | 63.185 | 282.869
b -0o0d |3.665 | 1.008 | 59.161 | 257.593
gooooodn | 3.416 | 0.940 | 59.285 | 260.493

24



7.oogn

gobdboboboooboboobbbbobobbobotoestbbobuobbog
gougobbdgdotd1guooboubobuogbonououbaonoobod-
b 2000400 n

std_file std_file

036 00000bogogonog

3.2.3 0O0OOO

gogodbogbgbbbobobobooboboogbobobobgogbobgn
googuodbgbogogbbudouuogbobobogoboprobgogod
goudbugoooboobogbouboadan

. guoboggoguog
gouobobobdbogobgbobobboougboubuobobobooono
gbodbobboobogbboogobobbbbooboooobbobonn
gbogogbbogbodgbouguoouooboubobnbobnoobogn
gbodboboobouboubobogbbbboobobboobooouo
gubdbobgbbboogogoooooboboboobbboboooobo
gboogbooboobobogobon

25



2.00000
gubdbobdubobgbgoubobbbodbouoouboboboobg
O00000000ooOOooooooobooDOo0ooboDoOogon EO (23)0
gbdobogbodgbodgbBpUbbobbogbonogdg

e U UODLUOODLOODLO
Plawt O [11] 000000000 0OOCOOO0OOOO0O0OOOODOOOOOO
gobobJsoodooooodbobboobbobboboobbod

h
J=E+§Zw; (3.16)
)
0000Ow,; 0000 j00000+00000000AO0000000000
o000

vbobooodbododoouoogaooooobibb w,, bogoogagd
gugogbogbobooogbgbobtboubboobobobobodgn
gbdbouogbobobogbogubobooouogboobogn
gbgoogodgugboobooobnbooobonuooobobogn
g

e LD OODOMO
Rumelhart 0 [12] 000000000 00000CO0COO0OOCOOOOOO
cobbooobogobJsouguooououogbbouboobbouboo
uon

= AE+(1—-)\)C (3.17)
w2, w2,

_ J tJ

- St S irr 15

17 17

oooo(l-N0O0O0O0ooooooooooooo

(33) 000 10000000DO0ODOODODOO0O0 200000000DOO
gboboododboogooboboubgbobobobobobogn
gboboooodbgooogoobobobobooboboboboon
ggogoogoogd

26



e JOODOODOO
000 (B¥0oooob000o0ooooobooooooooooooggooo
gbgobogbogbogbotoboobouboad

J=E+¢&Y |wyl (3.19)
1y
0000 00000000000000e=¢2000000000000

UnpUboboubboboooboobooboub nhobooboon
gbooooooooooboboboboboobdad

e LU UODLOODLOO

000 4oo00boobo0obooobooboboooooooooobooDo
guoobuogbogbouodgoad

J = E+)\H (3.20)
H = —ZR]'ZOQQR]' (321)
]
|wij|
P = (3.22)
’ Ez‘j|wij|

goooxbobooboobooboboobooobobobooouboobn
ggogoogd

e LD OMO

OO0 000000000 booopooooobooooboboooooo
goooood

Awj; = Aw; —esgn(wy) Yo |wil (3.23)
k:1,¢j

UO00O0OAwey O BPOOODODODOOOOODOOOOOOO 2000000

0000000000000 Osgn(x) 0 x>00 10x=00 00x<00O -1 0
godbdbebddbooboobaobon

27



gbgoouodbobouooboouobgbobuouboobobobooban
oooooOoOoJsobOo0oooDooo
J = E+¢) > |wij|w] (3.24)
i jAkj<k
0000 =ep00000000O0OODOOOO
e Optimal Brain Damage (OBD)
ooooOoOO0o0OO0O00O00o0oooooooooooOoboooooooooo
OoBDOUOOCOOUOCODOOODOUODODOCOUODDODOOOODOOLeCun O [16] O
gododoooopphOibO0DO000ddddodd w; OO00ooooonoo
gbooogodbgbuonouobobooouoobobobobogn
UBpULUD0OOOO0OUDOODOLOODLDOLOOOODLObODOULUbDOUOUO
1 0°F
52‘125@“’@

gbbod2bdbgbobooooboubobobobgooonon

(3.25)

3. DT OO
BpUOOOOOoooooodoooooogoooooduoooooaaon
gboboboodogoooooooboboobbobdooooooobbooooon
000000000000 000D00 DTOOO (Dissimilarity between two Target
patterns) 0 OO0 000000000 00DOO0COOCOOOO0ODOOOO0O0OOO
oboboooooogoobooboobobobooobbobobooooooooobooobbobobn
gbhobbobooddooooogooooobobdooddaugoagoooon
gbbooogoobooooBpubboodooooooboobboooaoon
gbobooodooooooboobobbobobooobooooooooobooboobooon
obobooogoooobooobobooon

4. 0400 o
O00O0O00000ooDboboOoD p|000o0obbbobobbbbooobooo AO
000 RAODDODOUADDDOOOD AODDODO0OOODODDODDODO fe HO
O0000f=BAfO fO RA)ODOOOOOOCODOODOOODOOODOODO
odboboAF boboooooobo foooobfobobobobobobo
guooguod fuuoabogbon

28



5. ooy
0000000000 220000000000 DO0000oooooooooo
bbb ougobogoobogbaoubobbobobobono
gbgogobogbuobdgbuobobgonbooboooouoob oo
O00OO0000DODDOO000ODODO0o00OoooooobooDoooooD f(
gboogobogoogd

o0

Af(t) = / ulz — 1) f(t)dt = F() (3.26)

O.,000000000000000 (u(x) O unit step function)0 0O O0O0O0O

gboooubooobodboubgbooooobboubobbooboobonn
gbogbooboobuobooboboouboubgbogbognon

~

R,(f,F) = p*(Af, F) + v ) (3.27)

bbppboobQuuubuuboubooboudygubooubooonod
gobbobogbogoogbogoououbobobobuboboboboogoo
gboobdoboogbbobogbboboobbooboobooboobboo
gbodbobuooodbo Fobuogbuubdby oo boobonbo
DDDDDDDDDDfD Af=roggoogoobnogbognoann

gubdbgbdgbbobobgobobobobboooobboboboobo
gudubgbdgbobgbbboooobobobooogoooboboobo
gobobobdobobobobobbobobbobobobobobbbobbo
googd

3.3 Uubouougoot

gogodbdgbobgbobooobbooogooobobobooabbooobgn
googbugbgubdggbguooooobogboobou 200b40boada

e LIJUOOODOU

e OO LOOODOO

29



goubbdbgbgubgbooboouoooobooboboboboubouoobooon
godbooooubouboogobboobbooobouobobobouooobooon
gbogdbbgoubooobboogbooubbooboboogobbooobbb
gudugbooogogbuobobobobonbooooobobooobobobo
gubdbogugbgbgbooobouboougbuoboobob oo 1oy
gugbogodotob 1o boobooouoooboobo
guobguboodobuobboboobdoouboobouobooboobobboon
UBpOUODO0OLOODOODOOLODLDODLOLDLOOO0OO0OLObO0OOOobLOobDogn
godbdooogogbgbbobbgbooobobobooboobobobooboogn
goobdooboogbooubouooboonbn

0000000000 (8ooobooooooooooOooUoOUoobUoooooo
gogbbooodgoboogboboobboboobboboonooboobobo
goobobogbotubodgbogbobooogbooboggs/uooobn
gubobguoogboogboodo

3.4 UOOOOOOOO

3.4.1 BPUOUOOOOOOOOOO

4200000000000 boopp bbb boobLoboon
gbobgbdgbooboobooobbbboobboboobbobobobboobbooa
googbogooubaoboobooon

gouboogogbdgbodoobogubobbgbgbuogbonbuoubbn
ggbosgbuududtdinbdtdbiecbdbbdddtn Ualdd o1 0d 0.2
gogoootbgbooodbooooubgogoobgbgooonoooooon
oorgobdrooooodbbgob bbb ouboboboboouboonbog
gbogbuogoguboubogbobuodgbuogbodgb s8buuud

b00O0O0On=05,a=090000000000O0O0ODOO0O0O0OOOBPOOONO
googbboboouboobouboobboobbobbooboouoo

gogobgboboooooodbobbooooooboboboonbobodon

30



O00000000e D000 O0ODODOo O0DO0OOODODO0OODOOOOODOON
gobdbobgubooudoogooubidnUaoauobgoooon 100000 000
guobogobobbogobboogbbboobboogbbobbbooobbodgd
god

31



gododogodogogbogbogobogbobogboobobogbgoaoooan
gobogboogobob2biodb1guogobobgboobbooboubobogon
godtodgbodobogbobogob oo cbogbobooobooboobono
googoogn

godgubouguuogoobobubnoboonoobooboogb spuogn
gobugogdbappibdgbdboboboogooubooboonoogos gog
gogosuubogbogbogsubonbood

3.4.2 U00O0OoOoon

gubodgobouodboodguboggbooguboouooouboogbo
goodod1ggobubscobugbooonoouoogob ecoboboubo
guboobodb BpOoboouobgoogob2e0obbbouoboboooboonog
gobdgboosggbodboootubgbleoooobgoonbbbbgoasoeod
googoubloobugbbgbbugubuodboooboousgbnoouood
gobdsgbubuogogboobgogbb20ibuuogod s22ugooogt
gudbdbogbgbooboooboobobobobbouboooobboobobooooan
gogoouogbgbdgodd

3.4.3 UUOUOOOoooon

gugodobobooggbogobogbnboobobbgsugubbooubooono
gobdodgbobouobsasubguoobobugouooooboonogno
gogbdbobobobods4a g ssugbobouonooboboboobobon
gubgbobuogbbboooooobobouboobobousabgogboon
gobbododbobabuogoooobubobobuobononbuboaboogn

goodbougboobouboubobboobbobbooa
3.4.4 0OOOUO

godoubgbgbougooooobbbobobobnooobobuooooon
oo bbb oooooo
goboogguboubdobgobobuoboobbboboobooooooboon

32



gt oobboboubooboobobooonoobnoon
godoo
gbobbodbootgbbogbboppbboggbogbbobdobogosunnn
godosbgbguouudbooorboubdbgbouogbdbddloooood
godbbgbddrx vdbgubouggboobogbgoouogbonboaoooy
googobogoboodgnod 1oo0x o0 bogooonboonooooo
gobodggubggbbdab2oiogbbobboboboubooobobooon
gbobogbbooubogbdgssuinoodoobbboonoonbobodbg
googooobgbbouogbbiogbonobuoobobooboobooo
oo obobuboboboboboooboooan
guobgboodobooggbboubobogborx rObboogooboood
gogobbotdebgogbd
gododogogbobododgooobodboooobooobobodooodn
oo bbdtgtbebdbu3nuudbuuoubd Bpooogog
gogobdogboooogobobbogbogodx 30bx U7 x 709x 9011 x 110
13x 13015 x 15 00000000000000O000 100x 1000000000000
gboobgbogooboobodoobogbobbsebobbobobbooogn
gguoodgbouobogbdgubobodgbouoobogboubobonboua
gogbogboguoobbboooououonoooobobobooboooboobaon
gobgouobggbgouobooobobgobbodboooobboboobboboon
goubggbboboboooboobobobboobboboobobooboon
gobbgubobguogboobouboubobboobbobbooboobood

33



ooo

|DDDDDDDDDDD| oooooo
l oooooo
0ooon | <=—————
|DDDDDDDDDD| ooo ooo 00D

l I I
1 1

037 0b00bo0oaon

i
il

—ez=lill
Hiin
11T

) [ ] ]

‘-J
™[]

FEEH

U 38 gbubdoguoouobbogbobobooboooboboboooon

34



T ERRE

U 3.9 0b000bgubogubbbogbodbodbogbobobobnbon

1.2E-04

10E-04 |
eros 0§ § B F 8 B 5 §
# 60E-05 |
M

® 40E-05 |
k-

20E-05 [

0.0E+00
2 3 4 5 6 7 8 9 10
B/~

U 3.10: BpUbuogouogoogoogboogoooooon

35



0.16

0.14 |
Woi2
arg
=01
He
H 008 | | | | = = u [ ] =
{m
E0.06 3
B 0.04 |

0.02 |

bR/ —F 8

U 3.11: BpOuoooguooboooooogogobaobog

36



0.16 T
0.14
012 F EFifi/ N —>
i g ] E i 1 £ .
g o01f
®
g 008 3 E Y ¥ x = r
c2 FE/E—
006
004
002
o . . . . . . . .
2 3 4 5 6 7 8 9 10
PRI/ —F
0.12
[ 3 ; q B/ S 2—>
i K "
o S S S S SR R S
. T FE/NE—>
W
% 008
13
[
1m
T 006
=2
004
002
0
2 3 4 5 6 7 8 9 10
PRI — 8
0.16
014 [ 1’ l
" 012 [ = " i 1 {
F i/ N a—>
% o1
£ oos
B SV 4>
006 |
- F3
I £ £ = z 3 i T
004
002
0
2 3 4 5 6 7 8 g 10
PRI — 8

U 312 000000uboubgbogbgggoooboboooban

37



0.16

0.14 -_ S/ S —>

0.12

: b

W01 =

e 3

IR S R A

f-

0.06
FE/NE—

0.04

0.02

o 3 4 5 6 7 8 9 10
g/ —

U 3.13: 0dbugnoudougboubououobouboubaun

0.1
009 1
008 |
007 |
006 |
005 |
0.04

RELPERELDE

A

SR

2 3 4 5 6 7 8 9 10
R/ —F %

U 3.14: ubugbodbodbouooubobnbboubonboubouoo

38



0021 m

B [
8.81 2 4 B R S5—

® T/ 4—>
0.014r1

0.012f
001
0.008 [

0.006
0.004 ;
0.002 1 - { {
0 1 1 1 1 1 1 1 1

2 3 4 5 6 7 8 9 10
HlEE/ — 8

BRE

F98 Ff0

U 3.15: 0dbooudoodgobgon 7x 7rougod

ERE

S =|

Z'Z

i 0.2
- " )
I %l:lé 015 B r=h S — ]
wHifEse = FE(ZLDHERE
I H 005 |
_l_l_-_l_i_l_. ! ! 0 Lo Lo Lo E e ‘
™ IO ™~ OO — ™ 10 o o~ & — o o
X5 X X v % % ¥R ¥ ¥ =22
- 2r - e
FTNTH $UTYL T

O 3.16: Uougbooguonooobnoonouoogn

39




L] 4[]

HENREN

godbdubogooouboobuoubobobboooobbobobobooo
goboooobobobbobobbboubouooboboobonoobbobo
gogbdodboboabnogogooboboboboboooboubobooan
bbb oguougbogboubobuooboubobooboua
guobggbbuoooobboobbobobouboooboobooboobobooong
gogoguobogboobooon

4.1 rFrcuugoooooogd

FTC(Fault-Tolerant Computing) 00000 M OOO00 SOO0O00OO0O0OOCOOOOO
oodddudgrrggoooooddggd ferubbooodoooono sodagod
00000000000 FOOOO0O0OOO (Fault-tolerance) O OO O0OOOOOOO
ooogoobooobooobooooooobbobbooooooooboboooboooooo
Ooboooooobboooooooooboooooogn

DoooOoOoboooooobooboboobbbboooooboboobbooobooog
gbooboooooooooo

Ooo0ooooooooooboobobobooooobooooooboboooboooogo

40



4.2 U0OOOO

4.2.1 0UUOOOOOOOOUOO
goobboooogoooboobbooobbboodbooobbboobbooon
1. 000000 (@DbOOo0ooooooon)

2. 000000((@OoOoooooooon)
3. Jdooouoooo((oooono)

godubogudboobgbououoboboboouo b obobooooon
gbogbuoboogboboogobbbobuogboboboobobuobooboban
gobogbogbgbbdbogbtoboobonoboobobobobobooodgn
godbdodbouuoubogbodoubouboonboboubouoboboooo
gudboirooduoobooubogubobbobuoooboobnooboooo

4.2.2 0OOOO

gobdgoubbggbobbobboboobbboobboooooobobobbo
goobododobobuooobououoououbooobobobonobon
gogbgobobbudggbobobonobooboboooboboooonogn
gobgougoobboouboooboobboobboond

guobogbooboobbooobioobobboobboboooubouobga
gubdgbgbdbobdabbdoooobobobobobobogoooooogn
gogudbdbobdoboboboooboobbbonobobogboboogb
gougougoobbogboobosuuubgbogboobnbobooboon

4.2.3 0UOUOOO

goboobogbbbbduboobiboobobbboobboboobboooboayd
gbogbgoboobogobogd

goob sotogboobgboooboo NDobboioboobobooobog N
OsooboOooOobDbobO0oO0iD NO(SOOooOo)ybooooooooobooooooo

41



guobgbdgbodb oo bobnob bbb obboobboonoan
goboobbgoboobbboobouobobbobbooooboobooboooa
gogodgdggbgbgbdobobooobbbbobonoobobooboboogn
ERERE
gododgbgodouodgooogoooobobobobobbouooobon
googobbil1ogbuogbouboooboobaonbnon

4.3 UUOOOOO

OoboooOo00O00b00o0oo0b0000O0000b00O00O000b0O0b00000O0
O0000000000000000DO0DCC0000000000D000 OGA(Genetic
Algolithm) D0 OD0O0O0OO0OODOOOODO FTBP(Fault-Tolerant Back Propagation) O
OO0 poooobobooobobooooooooboooooDoo rTBPOOOOO

ppUbogbooboobouboobon

EBP = ZZ(t—a)z (41)

O000DOO00000FTBPOOOOOOOOOCDOOOODOO (fault)D0OOOCODOO
goboippULUOUO0OOU faut DO DODUOOODOOOULOOOOOOOOOBPOOOO
goodouooobogoouobooogbooboa

E=Y Pl o) (12

DObOb0dodddbe00000000000000000000000000000
gogoobobooboobobood

F = LYYt (4.3)
Sl 2O SUETED 9 9) SETNIED 9 3 MEEHENNIEY



fZZZ{t—af (t —ao)’} + ( F—I—lZZt—ao (4.5)

O0O0O0@2)00o0D0000O000ooooDooobObObooooooooobboooD
0000000000000 ooobobdf=0000000000000DDOO
gogbbgboboboooouboobbboobogbubobobobnbodood
goboobogbogbogbogooobauboan

(t—ap)’ > (t —ap)’ (4.6)

goboubbooobouboobouboobobbobooboobbobooboo
O0000O000oDO0o0ooO0o0oooooooOoOoogs0oDOo 100

ZZZI t—as)* = (t —ao)’| (4.7)

f=0 p 4

googboooouooooood

B SN - o) = (6 — o] + (F + 1)(t  ao)? (4.8)

f=0 P
OO000O0 100000000000 000000DO0O00DOODO 200000 BP
O0000OD00o00o000bOo0ooDooDoooooooooooooooooooon
(450000 200000000000000DO0ODDOOOOOOOOOOODO MO
000 45)00000000000000000DODOO0O0O00ODODODOOOOOOO
O00000oooooboooooobOOo0o0oOoboooboooOooooooDoOoooon
O0ooooooooboooooooa

f

gbogogbogbabobodgoan

wiTBP Z Aw?? (4.10)

43



godbobougbogbgbooonbobobobououbooobub BPpOO
gogoguogboobobgobgooboboo

44 UU0OU0OOOOOOOOOOO0O

gubggbobdobogbuoboubuoboobooooboooboobobooon
gobdgdgooobbbdboubooobobooobobobobooobobooo
gogoouooubobobdbobogobobobobobobooooborreo
googbuogbooboobogboubouboobonoon

gbogoubogbgoobodgogbobuogogbobubobubobobooodg
gogboogugbobbooooobouoboobbooobobobobooooooon
gbogbbooobobobogboouboboboboboobobuoobobon
gbogdboogbodboboboobbobobobbobboobouobbO graceful
degradation U U U U O UOLOUOODOOOLODOO0OOUOOOULOOOOO FrrCuogoog
godbduoogoubogbobobbobonbobbobobobonooobogn
goboobouogobouboubouboouoboobobboobobbbouon
gogboboboubogbooooobbbgonooboboobbboonooogn
goooooooogboon

oooo oooo

041 000000000040

gbdbuogodbobodouobobuouooonboboerobbbouboan
godogbboboouoobooboobouobobobooubooboooooon
gogbdboboboboooobooboboboboboobboboobouoboogb
googbougoogbogbogbaoboad

44



goggobodbogboboubbobobobooouuobuboooboboon
gobogbdgdad

d1:0do0odgodf

No. | UODOOO OLDOOMSE OUOOO MSE
1 16 0.043 0.000079
2 19 0.014 0.000077
3 15 0.046 0.000087
4 15 0.039 0.000093
) 15 0.018 0.000077
6 13 0.027 0.000089
7 17 0.029 0.000087
8 16 0.013 0.000085

gbdogboodgdt spd BpUdUd Xortuoooooooogooaoo
godbogogoobosugbubnugbuobontb oabgbogobobogo
goo

No.llU No2UUOOUOUOOODLDOODOODUOODLOODLON Ne2D UL DOODOO
godbdoud NedlUUOUOOOLOOODOLDOLDOOOUNes U ODOLOOLDOLDOOO
gbobgbuoogoubgubogbodboad Ne2OOUODLOOO

godgoubodbodbbbobobobuuoobobuobouooouoooooon
goguoouogbobdoboooobobobad

4.5 UUOOOOOOOOO

4.5.1 0UUOUOOOOOO

goodgbogboobogbogb 2bbgbobgbd

1.000b0ogoag

gubodgubboguboogubogubobogubooubooobuoobo
goggogobbobbobobgooubobgobbooboboboobobbobobn
rrcogbgbdbogboooboobobooboboboobooonoobobooooban

45



goooubogbougboouoooouooooobboououboooobboubou o
gobgubogubobogbiboboobouboubobobboboobbobuon
googbbgboogbooboobobbogobbgd

2.000000040uo

godododbgbabobobbobbouboboooobooboobobobbooa
gobbodbogbgbuodbuouoobooboobuobboboubobboobo
gobgoboguobobouoboooboboooboobobbooobuobobooon
gobogbgbdboboobbogbobobbboboboboboobooogogn
gobgbouogoobbogbogbobboobbooboboobooboobn

gbogbgubobbgboguoobooouobooboboboa

4.5.2 UOUOOO

gododogogogogogbgodgbobobbboboboboboooan
gbobogbodbdbonooobbbonobonooboboboooouooogn
gubgboooogooubobobnoub oooboubgo fouboobboboggn
oooogoaoooon fuauioooodon

1f = fell = //(f — fr)? (4.11)

oot oouuooooboobogooo 20b00boboonogn
goggxoruobdooobooouobuobd 4200000

19 006

18 [ 5
pARl . %005 | oo

)

16 1o . = *
& = .
Qe . . o004 [, o

14

*
13 e 003
001 002 003 004 005 001 002 003 004 005
MSEDZE MSEDZE

042 0000ooooog

46



000 XOROODOOOOOOODDOODOD0O00000000000000 010000
00000000000000000000000000(0,0),(0,1),(1,0),(1,1)0 400
000000000000000000000000000000000000000
~1.000200000000000000001000000000000000000
0000000000000000000000000000000 050000000
0250000000 01250000000000000000000000000000
0001000000000000000000000000000000000000
000 01000000000000000000000
420000000000000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000045100000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000000

4.6 U0O0OOOOOO

4.6.1 FTBPUUUOU0OOOOOOON

rrppUuogobonododododbdbodbbbbdBpOU0bngnonogoog
gogbooogbudbgooobidinbobbtbabgbgbgbogoogn
guboo4b2000 20000 oogboonbooog
guobbbboboobobbooboubobboooboobobib4astu440n00
gougbodbobobdbobobboboooobbuoobobooobobobo
googboboodubebgooobogboon

gbogbguogboubouodggoougb oo ebgbogobonoo
gbodgbodbodoubog4bsdg4ebdbbonbogoobooooooooongn
gosdugbogbgosuubgboooguooubogbostbgbgbostngonn

47



4.6.2 U000

gogotdbodbgbgouooobgboubouobobobgoogd FrepUu
gobgboguoobodboooogbbobouboboooab begbbgg
gobgdbobgbogogooobouuobooooooobooobobbon
goodooggogbdilodgooddbdgdgbddbanodgonboond

a b c d e f g h i

HRERN 7.745 | 7.720 | 7.819 | 7.719 | 7.685 | 7.716 | 7.721 | 7.745 | 7.806 | 7.763

gbooodo || 9.177 | 9.062 | 9.073 | 9.054 | 8.976 | 9.016 | 9.031 | 8.998 | 9.071 | 9.032

goodg 1.376 | 0.766 | 1.123 | 0.464 | 1.060 | 0.508 | 1.153 | 0.656 | 0.504 | 1.185

googd 2 0 0 0 0 0 0 2 0

Ooooood 1072

47000000000 FIBPOOLOOODLOOOLOOOOOODOOOODOODLOOODOO
gobgbooboboobobooboboobuobbooboboob MSEOO OO
gudoMSEOUgogoooogbobognoooubooouoooobonn
gooobuodgognoogbooooooboon

gootod oo ooboboobgoboobooboooobooon
gof

ggo a b c d e f g h i

0 0.7745 | 0.7720 | 0.7819 | 0.7719 | 0.7685 | 0.7716 | 0.7721 | 0.7745 | 0.7806 | 0.7763
1 0.9177 | 0.9062 | 0.9073 | 0.9054 | 0.8976 | 0.9016 | 0.9031 | 0.8998 | 0.9071 | 0.9032
2 1.0553 | 1.0303 | 1.0264 | 1.0291 | 1.0176 | 1.0226 | 1.0274 | 1.0175 | 1.0265 | 1.0236
3 1.1871 | 1.1453 | 1.1397 | 1.1442 | 1.1306 | 1.1357 | 1.1454 | 1.1283 | 1.1394 | 1.1380

ooooood 107t

A8 boobbobbuoobuoobuogunboun
gbogoouobobobdobobobbubuoggbobobooon

gooooboobsbbgdboobubogbbbbboonbbtoobboood
guooodgb4obgbbbg4onbguubogbgbouoobobouonboouo
gobbguobgbdbogboooobbooboboboubbobouobooon
gogogubogbgbobgbobbbbbobobobobobod

4900 gbgooorgbboboboubbooobobobobnboobogbo
goooziugupooodgoon

48




41000 0o oo bobuobobouod4.ao
gogubod40boubogbouobbboboobgogag

o UUDUOODOODLOODLOOOOONO - e

e UDUUODUODLUOODLOOOODLO : a

e JOUOUOOOOOOUOLDUDLODLODLODLOLOODLOLDDO = b

e JOOOOOOOOUODOUODLODLODLODLDODODLOLODODO = h

gododbdgbobogoboogbobbobobobooooooooobon
gbogbdoogbogboboobouobonbooobobbobobouooooan
gobotobdgogoobboboobbboobooboobooboobooon
gogobododbdoboboobooooboobooboboboboboboboooo
googooo

49



0.012
0.01 |

e

MK 0.008 |

1

He
¢ 0.006

& 0004 |

CIRER

0 B [ B B

4 6 8 10 12 14 16 18 20
e/ —k 3

U043 000000000000 FIBPULOOOLOOUOOOOOOOO0OOOOOOOOO0
N

0.095
Wy 009 f E
- z
=2 0085 | 5
K E E i
m 008 | E = =
_:ra‘
BF 0075 |
007
4 6 8 10 12 14 16 18 20
B/ —R &

U044 000000000000 FIBPULOOOLOOUOOOOOOOO0OOOOOOOOO
N

50



T B FMRE

U 45 FIBPUOUOUOUOOODOODOOO0OO0OO0OO00O0O0O00O00

T ERMRE

U 4.6 FITBPUUUOUDLOUOODOOODOOODOLDOogooooogog

o1



Sk dad o

MSED =

0.016

0014
0.012 1
0.01
0.008
0.006
0.004
0.002 |

—a—MSEDE
—— BEE R
—— Hi —if[&
—m— AR [E

47 0ot ilebodoy

——Fault=0
=@ Fault=1

— 4 — Fault=2

-- & --Fault=3

0.12 ——a
0.115 —=—b
| 0.11 c
K 0.105 ——d
" 01 —*—e
?ﬁ 0.095 —o—f
o009 —+—g
B+ 0.085 —h
0.08 I
0.075 ——j

Fault=0 Fault=1 Fault=2 Fault=3
0 4.8 0000

52




——a
0.006
—&—b
0.005 —A—c
0.004 ——d
0.003 *—e
—o—f
0.002
—+—g
0.001 £ h
0 X —
Fault=0 Fault=1 Fault=2 Fault=3 | —e—j

U 4.9 0000boguoooooan

0.002

0.0015

0.001

0.0005

0
Fault=0 Fault=1 Fault=2 Fault=3

0 410 DOoooooooooon

53




1 50

Juobdodoot

godboobs3sgbu40boboooobdbobobuoboobobobooa
UUOBPULO FIBPULUULDLDOOLOOLOOLDOLODLDOLOODLDOOLOOLOLDOOOO
gogbooobogogbogbobobouonbobooboobouoooogn
godboobdguobogboboooboubobooboboobououooon
gogoouogbdobdd

5.1 O0OOOOOO

BPUU FTBPUUOODOOOOOOOULDOOLOOLOOOOOOOOOO 4020000
gobogobbogbobobboboobouboobouoboobboboobboon
guobguoboouogobooooppion3gboonogob ostgubod 090
oOdogrrBPUODL0OD 400000000 03000000 00D ObDObDOD
oo osbpougboosdbuunudbuoaubaubogbd satn s2000d
guugodboguoooboogboonogbo cbobbbooonbogdiod
gogooubogoobobgogn

gododbodbdbgbobobobbboboooobobobooooobgn
gobdbbgbgbgbouogbobobouboboobonooboooogn
gbdrzbibddbooubnogbnbguboouboooboobboobboboboonn
gboguobogobobououobubgoobububobobooogbd FrePp OO
goobboubogbooduoooun BpOoboogoouobobobgoon

54



gboguogubod BpUO FIBPUOODUOUODOOODLOOUOOooooooo
gogubdudoogguboouboobboboobbobooboobooon
goos3tbs4000b0dbobodBpOUdbDogooboobonbn

RA#LLE:

0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.01

® BPi
e FTBP%

e
o HH
o 1=
relis
n gl
o
FofiE
L]

6 8 10 12 14 16 18 20
HfE/—F#

Usl:dbubbgdbudboatbd BpUO FIBPUULOOULOOLODOOOLOOOOO

RA#LLE:

0.1
0.09
0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.01

® BPi%
e FTBP%
t
i
I - E s 1 b

6 8 10 12 14 16 18 20
hfE/—F#

Us2.0dbubbggboudbouatbd BpPUO FIBPUULOOULOOLODOOOLOOOOO

95




01 T ! m BPZ%
e FTBP%
008 [
{ i
006 [

FRE

Fi95 F 50

0.04 E
2 5 : r

002 [ f 5 3§ &

4 6 8 10 12 14 16 18 20
hREE/ —F

Us3: dbudbudboudnotn BpO FTBPUOUOUDOOUOOODOOOOOoOd

0.2 E

018 [ = BP%

016 [

0.14 { : .
012 | [ ]

Fy8 RfliR=E

01

0.08 1 1 1 1 1 1 1 1

B/ —FE

Us4 00000OOOODUOODOOLO BPO FTBPUUULOOULOOOLOOOOLOOOOO

5.2 UO0O0OOOOO

OO0 BPUOO FTBPLUUUODDOUOOODOODOOLDOOOOOOOOOOLOoOnoO
ggbuggbbobooboobobboboodboobooboobbooboooon
400 200000000000000L00O0000O0O 00 0OO0LOOLDDLOOOOO
gogbodagbodgrrBpUoboggnboogoooonboognoooonoogn
gboguboboobbogoubobobooobuobobobobobooooooon

56



goodon

guobdubobguobgbobuoogouooobouboboboobbuoboa
gooogbooubbodgbobdbobd FIBpO000 BPOLOOOOLOOOUOOOOO
goodgguobougbouuoouoouboobobbobboad

RE

FryE %

0.13

S A I

0115 [ I
011 | t E I LS S S
0.105 | e FTBP%
0.1 T
0.095 : : : : : ! : :

4 6 8 10 12 14 16 18 20
HREE/ — 8

0 5.5:

BpUUO FTBPULOUOOOOOOOOOOOOODOON

FryE %

0.018
0016 [ m BPZ%

0014 T

0012 [

001 [ I
0.008 [ I )
0006 [

0004

0002 - E E E E {

4 6 8 10 12 14 16 18 20
HREE/ — 8

0 5.6:

BpUUO FTBPULOUOOOOOOOOOOOOODOON

57



5.3 OO

o220 ut FrBPUODO0OOO0OO0OOOOO0OO0O
goggdgdobs2bbgudogubobobgobobobogoooboooboon
rippbogodbotogbdbobogbogbobboubobouoBp o
googoogoogooobd

gbooobuodbogdbod rFrBpUdbodbogooggoabbogooon
godobgouougbogbobooobonboobboboobobuobuoboooon
gobogbboooobiboodbooboubooooboubouboobouon
gobgbodoooobodgboubgbodglebbogbogoobobboobobd
googodgodgdoogbobogoognooogubooouboubono
godbduoogbobogbbogooobuubobobobobonooouooooan
gogdogd

a b c d e f g h i j

go | 0.9177 | 0.9062 | 0.9073 | 0.9054 | 0.8976 | 0.9016 | 0.9031 | 0.8998 | 0.9071 | 0.9032

go | 1.2006 | 1.1941 | 1.1717 | 1.1917 | 1.1751 | 1.1760 | 1.1844 | 1.1704 | 1.1718 | 1.1741

oooooogd 10t

0014 -

0.012

(TP 1)
(=]
2

RABULE
o
o
&

L J

0.006

0’ L 4

0.004
0009 00095 001 00105 0011 00115
FFEi/ N — EREE NI DIREDE
GGRAtseR)

s dbudbuuboaubiouogoouboauoa

sruogububobdgbgbguuuboboboouuboboboboouoaa
goggobodutgodgbgbogbooobouoobobobobboononogn
gubobtogboouboubooobooboobboboogboon

58



godbgbggboubdgobobobuobuooooboobobobobbooon
gobogbboooobboobbbbobbobboobooboboboobouon
goog

sogbouoobgogbgboubboboobobbbbobobonboba
gogbdodboouonogbooboboboboboboobouogbooobo
gobbgoogogbogbooobouooounboooobobbobooooooon
gobguobgubogoboubouboubooooobbooboboboobboo
googbogboobogboo

gboogbodt BpUO FIBPUDOUODOODO s.11gdooodoooogaog
guboogubouoguoboggboggboooguorrBpuggooggooooon
gogodgod

gogsotudbodbodbodbodgub Bpbboonooboobon

iy LEI%%%EI!{E

61 m BP%
4T e FTBP%

4 6 8 10 12 14 16 18 20
s/ —F 8

PRIBO MR

Us8: diogbudnoudt BPO FTBPUOUOOOOOOOO

T
e
i
[ ]
-
!
m
E
B

—
-
-
-
-
-
-
-

PRAEO i Rik
S = N WA OO~ ®

4 6 8 10 12 14 16 18 20
B/ —F 8

Us9 0bdbodbudbudt BPUO FTBPUUULOOOOOODO

59



gbggbugoogboooboobodao
gobogbgoboobbbboboubooboobouboooubouooa
gogbobdgbogbogbobboubobbobboboobooboobon

2.00E+17 -

o 1.850E+17 [

-~

+z
;f,E 1.00E+17 [ "

=
% 5.00E+16 [
0.00E+00 | me. mwo . me | me | me ! Mo | | =

4 6 8 10 12 14 16 18  2(

~5.00E+16
g/ —F 8

U s.10: 00000000 0bO BPO FIBPOUODOOOOO

1.40E+18
1.20E+18 [
4, 1.00E+18 [
o L
,Eio 8.00E+17
[us
7~ G6.00E+17 [
=
F 400E+17 [
a 2.00E+17 [ I
0.00E+00 | Ne | Ne | me | Ne | me | i_l_-ll IJ_l

o
yAv)

10 12 14

-2 .00E+17 4 6 8 10
B/ —~%

1A
™= LAY}

Us511: dguoguodbod BPO FIBPUOLOUOOOOOO

gododogoutgbogbogooboobobobodbodgboobogogodd FTBP
gogbdoogogodbgboouobnooboboda spogbogbonoonoogn
googooo

60



5.4 OO

goboggouodbodubnooonboouBp g FTBPUOLDDOOOOO
gobguogduogubgubooubougbbbobbooboubooboooban
gooobbbdobbogbgbgbobobobobobobobobbooobobogn
goboobuguoubooubooboboobbogbbogbooboooon
gododogogogodbdgbdgbogogoooobgbogbgogoaogd
gboodbouguoubouoaoon
goboubbobguboubobboguboobbouoboubouubUrFTBP U
gubbotgnoggbagbbbogonboogbbboonbboonbooobo
ppUbbopoboogboboogbonboooobooboobobooboobonog
goodbouooodu Bpoooogd
gobduboouboubgboogobooobobboobboobobboboo
gbogodbdbodobobobobobobuobonobobnooboboogn
gbogbduodbogggbgbgobonobnoobobobobobnooouooan
googboogoagbaoooagon
OO000oooDOOoooogoboooo(obobooobboooobboooonD)Do
gobgobudgooobbobobgouoboubbbooboubouboobouon
gogboboogboobgbbbotbbboobb oo obobonobogn
googgugoogbogboboobogbboobobooboobn
godbdgbgbgbougooboboobobobobobuououooboooan
gobogbboooobboobbgooboubbboobouboubobbouoo
gogodgbbotgbootgbobbogbobbobbobbobooboobn
gobdodooodbdgbobgbobobobobbboobooobooboon
gugubogugbogbgbobonooboobobbaobbobooboboogn
gooooooooobooood
gbobbobogubbgbubooobobugogbobooobobuobboobo
gobobbtgoutgboobouboboobbbobbgbooboobon
gbggogogbobodil1gboobgbonbobbobonoobobodon
bbbt obobobobobooooooboooan
gbogbubobogbobogogboobboobobogbooboboboobobon

61



godgbdudbobddbouooboooobooboboboboououobooan
goo
O[ooocooooooo0oobooooodooooooooorBPOOOCOOO
OoOo0ooooobbooboooooboobboobopbobobboooo(oo)y4ooo
gudgooobguouuoougbobogbbbuobobobonoooon
oo oobbbobobobobooobuoooan
gooupoubogbdgogooad
godbobobobotboooooooboobgbobobobooboobbon
goougbugoogbogooubooboobd
gobogbgugbooouoooobobobobobobouobooouoooon
gbogbuoooboboddgogbuobobobooboooouogobobon
googon
gogodbgbodbobobooobooonoooooobobobobbgn
gogbdoobooodobobgbobobobonobnoboubnobbobogn
gbbodboogbbogobouobooonooobboobonbooaoooo
goo
goboodgobododgot Frspogggboogonboooobbooggn
gubogubouoguboogubodgugoarrTep oo oogoogooo
googooood
gobbodugboboobboobbobooobbobbooobobooBpugo oy
gobboogbobgbbbgoooboboboboobuobobobobooa

62



1 6L

U

6.1 JO0OOOnO

godbgugudbgbauooogoobobououobobobooboogaon
godbduodboboobbbooboobobobobobobooooubooan
gogoouogbgbdoodgd
gobdodbogbodbgbobobobuooooooboooobbooooobgn
godboggboonogbobonbubobonbuouonbbooooob o
godgbogoobobobuogbooogooouooboonboboboboooan
goguooubogbgbgbdboogbooobobobouobuobuoboboob
gogbodgogoobogogbgbobogouboaboboboobooooogn
gogoobobbobgbobobbbobbooboboboboboboboobnogn
gboogoogooagoaoboagon
OO0O00ooObooOooobo0o0ooobo0ooobooooobooooobogo/ooo
gogoguoogouboogbobobogd
godboobdgbooogobogbobobooogobbboboooobobon
gbogooooboboogogbogooboobobobobonobnooooogn
gobdbdobouboobobobondboobobobobobnouooooon
googubogbgbdogoouoboboooooobobod
goobooubbugbgubgoobogbbbbibobobbobbooboabooo
gogbdboobobobobbogbtobobobobobobobooogboobgn

63



bbb uogboubobooboobouboubobnboobnoa
goguoouogbobgbgooobgbobdgbobagg

6.2 0UO0OOOO

gododbogboggobogbogbogbogbobogbooooboogbooooan
guobgbbbogobbobobboboobouboobbboobbooobobn
godbgbobboobgbooboonobbboobobobobobonoboogn
googoogoogd

gododogbgbabobobobouboooouooogbobabboaon
gogbduoobbogbogbgbobobouooobob bbb oo ooooan
gogoguoboboooboon

64



U

guobogbouboobboboobobouboobbboooboobounooa
gogbgbobobogobbobobobobobobobooobounboooon

googooooogod
gobodgubogbbboboobogubbooonboobubooobooobn

gog

65



[]

[1]

HENRE

g og,ut d, bgbgoobobuobbguodgogbobobobbbooo
0000, 00000000000, E76-DI, PP.380-389, (1993).

b o, bgbobobouobobobbobio oo obonbo
OOoooOoooOoDOoO,bboobOobboO,0000,NC95-164,PP.77-84 (1996-03).

gt od, bbouododbooboboobdoobooobobooboobognoo
O0000000000000O0O,0b000, NC95-59, PP.79-86 (1995-10).

00 00,00 00,000000000000000000000,000000
00,0000,NC93-20,PP.63-70 (1993-06).

g ogu,od od,tb g, ggbdgbognoooubooobgooa
O000o00,b00000000,0000,NC93-75, PP.57-63 (1994-02).

00 00,00 00,00000000000000000000000, 0000
0D000,0000,NC93-127, PP.115-122 (1994-03).

OO0 00,00 00,00 0,00 O, O0BD(Optimal Brain Damage) D000 OO
OO0o00OO000oooO0,00000000,0000,NC93-129, PP.131-136 (1994-03).

gb bo,0u od,ggbobobtboooobooboboab, bbogogod
0,0000,NC95-11, PP.81-88 (1995-05).

00 00,00 00,000000000000000000000000000
00,0000,NC95-36, PP.55-62 (1995-07).

66



[10]

[11]

[12]

[13]

[14]

[15]

[16]

[17]

[18]

[19]

[20]

[21]

00 0,00 0,00 00,00 000, 0000000000O00O000O0O0
000000000000000000, 00000000, 0000,NC93-130,
PP.137-143 (1994-03).

D. C. Plaut, S. J. Nowlan and G. E. Hinton, Experiment on learning by back
propagation, Carnegie-Mellon Univ., CMUCS-86-126 (1986).

D.E.Rumelhart, International Conference on Neural Networks, Plenary Session

(1988).

OO0 oo, dddooododbooonoooooooodoooo, oooad
000, Vers, No.5, pp.595-630 (1990).

M. Ishikawa and H. Uchida, International joint conference on neural networks, II

pp.375-367, Beijing (1992).

S. Yasui, A new method to remove redundant connections in backpropagation neural
networks, Introduction of of “parametric lateral inhibition fields,” International joint

conference on neural networks, IT pp.360-367, Beijing (1992).

Y.LeCun, J.S.Denker and S.A.Solla, Optimal brain damage, in D.S.Touretzky (ed.)
Advances in Neural Infomation Processing Systems, 2, pp.598-605, Morgan Kaufman

(1990).
00 00 00,0000000000000 -00000-, 0000, 1992,

U0 dob,bd b, bdbdbododd Cross Validation DO DOOOOOOMO,
00000000000 D-11,Vol.J74-D-II No.7 pp.955-965,(1991).

Efron B., Bootstrap Methods: Another Look at the Jackknife, The Annals of
Statistics, 7, 1, pp.1-26 (1979).

00 00,0000,0000000,0000, Vol. 30, No. 9, pp.1047-1057 (1989).

OO OO, An Approach to the Generalization Problem in the Backpropagation
Method, OO O O0O0O00OOOOQO D-11,Vol.J73-D-II, No.6, pp.897-905,(1990).

67



22/ 00 000,0000000000000000000000,000000000
0000, NC 91-76, pp.85-90 (1991).

[23] Nait Charif Hammadi, Hideo Ito, A Learning Algorithm for Fault Tolerant Feed-
forward Neural, Networks, IEICE TRANS. INF. and SYST. ,VOL. E80-D, NO. 1
JANUARY (1997).

[24] OO O0O,00 O0,00000000D000O00OOO0OO0O0OOO,0D0C0D0O
00,0000,NC96-60, PP.17-24 (1996-12).

[25] C. Neti, M.H. Schneider, and E.D. Young, Maximally Fault Tolerant Neural Networks
IEEE Trans. Neural Networks, 3, pp. 14-23 (1992).

68



o A. o

NAME
guodbuogdgouoouod

SYNOPSIS

nnftn, browser, unit, mse, nnft2, msen, link, func, hidden,

multi, deriv, smooth,
DESCRIPTION

nnft U000 0OD0O0O0OO0O0O0O0OO0O0O0O0O00O0O0b00booobaonDon
gooduserdugouguoobooboboggbogbbuserddoogoog
goguooubogbgbgbdoogboogbobobouobuobuoboboob

OPTIONS

nnftn - UUOOUOO0O0O0O0OO0O0O0O0O0OO0OO0OOO0O0O0O0O0O000O00boOn

gogbdboboboboboobubbbobobobboobbobga

UO0O0[pattern error :0] UOOOOOOODOOOOOOOOOOOOO
gobdbggbgoobooobogubbgbouoobognoooo

googon

browser - UUDUOOUOOOOOOOUOOOOODOOOOOOOUOOODOOODN
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gogtbbdggogbouogboobugbooboobooboubon
goubdubOOflFaulty 1link ID?] UOOOO"OD0OO0OOOO0O0O
gbboboobobooobobod bbb ouboobabod
gbdbdbdubdubdbdUlprattern #7] DUDOODO"0oogoogo"
guobgbgubogbogbooboubooboubouooogt-1n
goooooood
unit - JUOOUO0OUO0OO0OO0O00O0O0O0000O0O00000O0bO0000bgnDo
goobobbobbouboobbobbobooboobbobooboaoo
mse - JUUOOUOUOODUOOLOOODOOLOO0OLOO0boobugbouooon
gbogbuoboguooubooboobogbbobobbooboubouobo
oodgbooouob [ D0000oboubobooboubbounbg
gogbogbotobbtobogbobbobbobboboboooubon
googbogoooooo
nnft2 - QU000 0O00O00O0O0O0O0O0O0001000b00bgdobooog
gogoboobudbbgboobobtdonrt bbb ooboobon
godgbubdobgobououogboboboooobuobobood
gogobooboobobobobobobobl-~uoooboooooobd
googoogboogboogoon
msen - UUOUOOO0OOOOOOODOOOOOOUuoooooooood
link - DU O0O0OO00O0O0O0OODOOOOOOO0O0O0O0O0OU0O0O0D nnft2 JOOO
(-] OO OO0OO0O0OOO0OO0OODOO0OO0O0
func - UUOOOO0OO0O0OO0OOOOOOO0OOODOO0ODOO0OOO0OO0O00O0
guobobobouggubtx,ydd 20100 oogoanb g
gboboobbl-xll-yl] DODDOOOO0O0O0oouoooooogooogn
googuggbboboooobbobbdborgdpooubonbn
gboddl-sl]dbbdboboboooooobobobobobobooooogd
hidden - UUUOUOUUOOOOOODOOODOOOOOOOOOOOOOOLOO0ULO
oot bbb ooooobooon
godgobobooboobuooooubouboboobooood
[Faulty link ID?] UUUOUO0O0O0OOOOOODOOOOOOOOOOOO
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ggbogooou-t"guoouooboobodgbogoogbooooa

UbOdbO0Opattern #7] DU DOUOUODOODOOOOOOOOODOOO

goooooogogo—-1guboboobd

multi - JOUO0OO0O0O0OD0O0OO0O0OO0O0O0OO0OO0bLOOgoogoDoooDog
gogbobobogbonbgubauoauboabbad

deriv - UUUOUOO0OOOOOOODOO0O0O0OODO0OOOODOObDOOd

smooth - U UOUOUOOUOOOOOOOOOOOOOOOOOO0OO

-a accuracy o 10000000000 OD0OOOLOOODOLOOLODbODOOODOODOO
Oooooooood

-i filename JUUOOOUOOUOOOUOOOOONO

-t evaluate_function U OO0 UOOOOOO0OOOOOOOOOOOOOOOO0O

U0000 Onnftn=2, browser=3, unit=4, mse=b,

nnft2=6, msen=7, 1link=8, func=9, hidden=10, OO OO

0on

-p pattern_filename U UOUOUOUOOUOOOOOOODOOOOONO

-v verbose_switch U U000 0OO0O0OOOOOOOOO0OO0OOO0OOOOOO

odddi-volObOooon

-1 fault type DOOODOOO0OOOOO0OOD4000O00O0OO

case 0: /* stuck-at-0 */

wi[f_link] = 0.;

case 1: /* dilution */

wi[f_link] = wi[f_link] * dilution_rate;

case 2: /* random noise */

case 3: /* stuck-at-plus-infinity */

case 4: /* stuck-at-minus-infinity */
-m fault_number D00 000000000000 O10000000O00O0O0O0ODOO

1000000000000 0 0"number of faults must be >0"
gooooodg
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-d dilution_rate JUUODOOOUODOOOOOOOOOOODOOOD1000O0O0OO

-x range_of_x JUDUUD func DUDOO0OOxOOODOODOOOUOOODDOOOO
s-200000000000000func -x 3 -2 0000

gdbdl-y]l] DOoooobodogbodn

-y range_of .y UUUOUN func UDUUODUOOLO yUUOOUOOOOLOUoooo
-200000000000000func -x 3 -2 J0O0OO0

ggbol-x] boooobooboan

-s split_rate UOOUOU func D000 0O0O0OOO0O0OOO00OOO0O0OO0OO
gobodobbooboooboboobooboooboooooo
bbb oboddbdodbdUd"Not applopliate!

Change split_rate!"UU DO UDOON

Uex, 3.0x 3000000000 o0.70000O000O000ODOO

-a -1 -t -p -V -1 -m -d -x -y -s
nnftn o o}
browser o) o) o)
unit o) o) o) o) o)
mse o} o} o} o e} o) [l
nnft?2 o o} e} o)
msen o o) o) o
link o) o) o) o) o) o) o 0
func o o) o) O O o
hidden o) o) o)
multi o) o)
deriv o) o)
smooth o) o)

Oddobbooboobbbbobboboboooboooboobooobb
UUOOOnnft -v 0 -p pat_filename UL UUOUDOODOUOOOOONO
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U [-[dlJ0dtdbdgiof-1100diibd case 1 QUODOOODOOOOOOOO
gubbbdd0Omse -1 1 -d (0.0001.0) U 1ink -1 1 -d (0.00J1.0)
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std_file

std_file std_file std_file
input2 input2 input2 input2
i W0
300 300 300 it
250 250 - 250
200 200 H 200
150 150 4 150 1
100 100 100 1
050 —— 050 050 S S =
000 000 . 000
050 050 . 050 E
100 100 ; 100 €
150 e 150 L 150 1
200 o 200 : 200 E
- input1 inputt inputt inpuil
100 080 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file std_file std_file
inpu2 inpu2 inpuz inpuz
W0 W0
300 300 300 Tt 1
250 250 250
200 200 200
150 150 150 1
100 100 100 1
050 = o == 050 050 s p— ==
000 000 000 = =
050 080 050 - F
100 100 100 et
150 150 150 Bt
200 200 200 S 4
input1 inpuat h inputt input
100 050 000 050 100 150 100 -050 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file
input2 input2
W0 W0
300 300 <
250 250 . T
200 200 <
150 150 2
100 100 =
050 050 —pd
000 000
050 = 050
100 100
150 = 150
200 - 200
- input1 inputt
100 080 000 050 100 150 ) 100 050 000 050 100 150 200

el 0uobouodbdBpbOdbbgnbognooboobonn 44
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std_file

std_file std_file std_file
inputz inputz input2 inputz
| . ‘ ‘
250 ; = 250 2 250
! E
5 ,
f‘ 4
200 L 200 200 ;
| N
150 150 e —— 150 1
L’
100 100 - 100 L
Sty et L<<; Foevaad R S SLEC ST N [
0s0 s - e 050 B B e e Sy T 050 = E = = =
IR E f‘ S T e - el
000 000 e 000
la
g - -
-0.50 ” -050 ’ = -050 R
I
-100 L -1.00 -1.00 = & -1
i 7
h ‘
150 150 - 150 : 1 £
' » i
| o : i J
200 200 —4 200 + K
! inputl 4 input1 i input1 input1
100 050 0o 050 100 150 10 0% 00 050 100 150 200 100 0s0 0o 050 100 150 2 100 050 0o 050 100 150
std_file std_file std_file std_file
inpuiz inputz input2 inpu2
W s : i o ,
am 30 - 300
' 4 ) W ,/
250 250 . + 250 *
nita - 7
¥ i Trits E '
200 200 + 200 i
150 150 — 150 1
100 — 100 u = 100 m— 1, ==
050 050 s 050 = i
e TlET e i i rl, A X R
000 * 000 000 - e E R < S
P e P o " .
- ] 7 £NY
050 050 - -050 . E 8
/ \
N P J
-100 a -100 -100 -1
. |
/
150 150 150 Bt
- |
. '
200 200 —— 200 : X a
inputl inputl i inputl N inputl
150 o 10 0% 080 100 150 0 100 050 000 050 100 150 20 100 050 000 050 100 150 200
std_file std_file
inputz inputz
Wi
3 \ 300
250 250 e
Wit s
TiTs ™
200 \ 200
150 150
100 100
oo EO 0 S il i
»
000 000 u
050 -050 -
100 \ 100
150 \ 150
200 200 -
\ it . it
150 200 10 0% 00 050 100 150 200

Ue2 000ouodbdBpUOObOODOODOODOODLOOO 60
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std_file std_file std_file

std_file
ipu2 inpu2 input2 inpu2
3 300
250 250
200 200
150 150
100 — 100
05 . 050
oo = 000
-0.50 e -050
S
N
100 — 100
; ~ g -
150 150 - 150 1 o
: ! S -
200 200 7 200 . - >
inputt. v inputl ! inputl « inputl.
100 050 000 050 100 150 200 10 0% 000 050 100 150 200 100 0s0 0o 050 100 150 200 100 050 0o 050 100 150 2
std_file std_file std_file std_file
inpuiz inputz input2 inpu2
o . Wi
- .
am 300 : Tt
/ ‘
250 250 —F i
. s~ I ¢ Tits ™
200 200 oy WS iR Wits
-h w7 i w7
150 150 L .
100 v 100 1 St
0s0 e ft 050 — b —
’ il
Lo
oo 000 -
[ 7
- i A
050 -050 E .
N i
v / ¥ i
100 > 100 100 Bt
soh 1
i / A
150 150 g 150 1 o T
.
. ' / ! A
. ' « r
200 Y 200 - 200 P
i g inputl / i inputl ! inputl ! ! inputl
100 050 000 050 100 150 200 10 050 000 080 100 150 200 100 050 100 150 20 100 050 000 050 100 150 200
std_file std_file
inpu2 inpu2
i ¥ WO
3 - - 300 : o
/ ' ,
250 250 s
/ Wit s
/ TiTs ™
0 200 WiE
/ T
150 150
7
’
100 e 100 ==
I W os
050 = 080 S S e T A imarey o = —
R L S ’ [
oo 00 -
/
050 = 050
- /
-100 -1.00 A -
, 7 :
, P
4 J .
150 150
7 v
I \
200 : 200 —
’/ ! inputt. e inputl
100 050 000 050 100 150 200 10 050 000 050 100 150 200

Ue3: duobuodbd BpUdbbogbognodboobonn 8d
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std_file std_file std_file std_file
ipu2 input2 inpu2

3

inputt { b inputt . it
20 2

100 050 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 100

std_file std_file std_file std_file
inputz input2 input2 input2

/ Wit | W0

Tt 1

s~ Tnits
Wnite "~ Wit "~
Wit 7 Wit 7

e

WiE

it § it g

R W-A—y

'
- / VA - ‘ ‘ it ! -
00 200 200 200

std_file std_file
inpu2 inpu2

W

Wi "
h - Tnits ™
Wite ~
Wit7

WiE

i s

PP

' N inputl o input
200 200

064 00000OO0O0O0O BPLUODLDOODOODLDOODOODLOOO 100
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std_file std_file std_file std_file

ipu2 inputz input2 inputz
/ \
3 300
AR
250 = 250
200 - A S 200
0 = =% 150 L - 1
100 = 100 1
00 050 Soes
|
oo 000
s o
-
050 — . -050 E
-100 = -1.00 -1
v
« N
150 . 150 - a1,
” - A :
200 = . 200 E  a—
. ~ v P ~ IR
B ’ N inputl " inputt . inputl “ . inputl
100 050 000 050 100 150 200 100 150 200 100 080 000 050 100 150 20 10 050 00 050 100 150 2
std_file std_file std_file std_file
inpuiz inputz input2 inpu2
. N .
300 - 300 , 300
P X
N
250 250
200 200
150 S 150 1
100 / 100 1
050 - 050 ==
S
J » 7 7
T i .
oo = 000 .
BN P N B Y
\ . ’ 1o /!
050 S S 050 5 ran 7 h
5 ; h )
x S /7
100 - 100 - Bt
N ] I
% B g
150 - 150 5 2 Bt -
/
. . /
200 - 200 - X -
N inputl inputl ! N . 3 inputl - ! inputl
050 100 150 100 050 000 050 100 150 200 10 050 000 080 100 150 200
std_file std_file
inpu2 inputz
3 300
250 250
200 200
150 150
10 i o0
00 050
oo 00
/ / ]
i &, /| |
050 050 = =7 T
oA !
100 100 - T
4 \
150 + 150 A - :
’ = [t
200 200 . -
inputl 7 \ ' inputt
100 050 000 050 100 150 100 0s0 000 050 100 150 200

ges: goubodbuBpUOdbbOgnoobooboobonn 120
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inputz

inputz

inputz

std_file adfile
inputz
e e - 2= LT/ [PC)
] L
inputl
050 100 150 200

std_file

std_file
input2

std_file

Wnit13

inputl

std_file

input2

inputt

inputt

std_file
e inpu2

std_file

" ! \ N N inputl
®

std_file std_file

" input2

Tnit13

' inputl ot
2m

ge6: 0oubodbdBpUdbbgboobooboobonn 140
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std_file

std_file std_file std_file
ipu2 inpu2 input2 inpu2
3 300
250 250
200 200
150 150 L
100 ; 100 - L
ReRsL Wi
00 iy 050 TiT1s
Tnitla”
00 Wi . . TS
050 > -050 E
10— 100 —f S €
- / 5 /
; i !
150 150 LA Bt
/ d5 K \
200 - 200 S K
Inputt AN L irputt
100 100 150 200 100 080 000 050 100 150 2
std_file std_file std_file std_file
inpuiz inputz input2 inpu2
300 : 300 ; - 300 +
i H [
~ ' : Y P
250 — 1 " 250 £ . 250
- e d N . |
200 e 200 200
N 1 —~ ) |
¥t L~ |
150 4 150 —f= - — 150 L .
booead T R i ; .
100 S 100 = 1.00 14 + ==
i
ot 22 o
050 050 Tnit13 050 o
il s
000 000 nitTs 000 =
050 -050 -050 E
100 100 1 100 et /
150 150 4 - - 150 Bt
200 200 + 8 200 X .
inputl i x inputl ! inputl EAUNEEY ’ inputl
150 100 0s0 000 050 100 150 200 100 050 000 050 100 150 200 10 050 000 080 100 150 200
std_file std_file
inpu2 inpu2
3
250
200
150
100
00
00 TS . -
=L ! \
s ! -l
050 050 - i
/ it
» o |
100 100 -
o \
150 + T 150 — \
/ | - /] ,’ \
200 200 1
' i / I inputt / h \ H fr—
100 050 000 050 100 150 200 100 0s0 000 050 100 150 200

erdoubodbduBpUdbOODOODLDOODOODLOONO 160
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std_file

std_file
input2 input2

std_file

input2 inputz

std_file

inputt

100 050 000 050 100 150 200 100 150 200

inpu2

std_file

input2

std_file

std_file

input

std_file

inputt

200

. Wi
N 4 Wit i7 i AN S

W6
Tt 17

. inputl - '

inputt inputt

std_file

std_file

inputz

input2

Tt i7

inputl inputt

ges: duoubodbduBpUdbbogbobooboobondn 180
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std_file

std_file std_file std_file
ipu2 inpu2 inpu2
300 ]
250
200
150 1
100 ———— 1
050 >
p—
000
050 F
WA ’ [ O AT
/ 1 =
100 €
~ o i .
~ !
150 1 : 7
/ | 1
! ;
200 E
inputt. inputl inputl ; ' L i inputl.
10 0% 200 a0 050 000 050 100 150 2
std_file std_file std_file
inpu2 inpu2 inpuz inpuz
\ | Y
300 —
. ' 2
\ 7
250 -
200
150 L
100 1
050
000
050 F
TR
100 et r - <
. / :
[
150 Bt :
J '
| ¢
200 L v/ _ E
N N inputl - v inputl inputl az 1 ! inputl
10 050 000 050 100 150 200 100 0s0 000 050 100 150 200 000 100 150 100 050 000 080 100 150 200
std_file std_file
input2 inpu2
W0
300 300
250 250
Tiits ™
200 200 Wis
150 150
100 100
050 050
000 000
050 050
A"
100 100
150 150
. i ™,
200 - 200
N inputt. " B inputl
100 150 200 100 050 000 050 100 150 200

069 0buboubodbuBpUOObOODOODLDOODOODLOOO 200
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std_file

std_file std_file std_file
input2 input2 input2 input2
i W0
300 300 300 it
250 250 - 250
200 200 H 200
150 150 4 150 1
100 100 100 1
050 —— 050 050 S S =
000 000 . 000
050 050 . 050 E
100 100 ; 100 €
150 e 150 L 150 1
200 o 200 : 200 E
- input1 inputt inputt inpuil
100 080 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file std_file std_file
inpu2 inpu2 inpuz inpuz
W0 W0
300 300 300 Tt 1
250 250 250
200 200 200
150 150 150 1
100 100 100 1
050 = o == 050 050 s p— ==
000 000 000 = =
050 080 050 - F
100 100 100 et
150 150 150 Bt
200 200 200 S 4
input1 inpuat h inputt input
100 050 000 050 100 150 100 -050 000 050 100 150 200 100 050 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file
input2 input2
W0 W0
300 300 <
250 250 . T
200 200 <
150 150 2
100 100 =
050 050 —pd
000 000
050 = 050
100 100
150 = 150
200 - 200
- input1 inputt
100 080 000 050 100 150 ) 100 050 000 050 100 150 200

U 6.10: DO0ULDOO0O0OL BpOOOLOOOODOODOODOOOOD 40
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std_file std_file std_file std_file

inputz inputz input2 inputz
/
300 300 300 5 7
250 250 250 .
200 200 200 3
150 150 150 - 1
100 100 — — T 100 - 1
0s0 - PP PRI Y (FORSUUS R [P SRy 050 —pesac [SUUSG] EPRROUYS DV ORRe (U SRPSPUR (SRR QRo
000 000 000 -
-0.50 -050 -050 L R
100 100 100 1 J
150 150 150 1 I
200 200 200 E T
inputl inputt inputl : “ inputy
10 050 00 050 100 150 200 100 0% 00 050 100 150 200 100 00 000 050 100 150 200 100 00 00 050 100 150 200
std_file std_file std_file std_file
inpuz inputz iz iz
7 . ¥ PR
300 30 300 i i
/| ,‘ 1
250 250 250 =
7 ‘ i
/ h P it
200 200 200
b
/
150 150 150 1
/
100 100 100 1 =1
, :
: B S, - ,
050 050 il 050 o - T
T \\ 1
S . RPN NOUPUPES (USRI E AR S /
000 00— 00 — X
J ' aaneet ;
7 ’ P i
050 050 -050 = = —= K 7
) P = ;
/ =1 /
100 100 100 T 1
’ ’
’ L
150 150 150 1 5
/
-200 -200 - -200 E
inputl. : it inputt inputt
100 00 000 050 100 150 o 100 0% 00 050 100 150 200 100 050 000 050 100 150 0 100 00 000 050 100 150 200
std_file std_file
inputz inputz
300 300 L
250 250
200 200 %
150 150
100 —— 100 3
0s0 [ T e
000 = 000 -
050 050 S—
-100 100 =T
150 150
200 200 :
inputl ¢ inputl
10 050 000 050 100 150 o 100 0% 00 050 100 150 200

U611 DO0Ubooodb ppOodbodgboogbogbooodn e
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std_file

std_file std_file std_file
ipu2 inpu2 input2 inpu2
H 7 ;
300 300 300
250 250 250 i )
200 200 200 L !
150 150 150 . L
100 100 100 1 .
oo B e PSS IRUPURYS (PUPIDIN ey {.L
PSS I P 050 050 SEes S S St e e
P B PR - SENUEIS DU LU, S SR A,
000 000 e 000
050 050 050 E
——
100 < 100 100 . € ; <
B ~ i
150 S 150 150 - 1 -
= : !
200 - 200 200 E
b ~ input1 inputt inputt / inpuil
100 080 000 050 100 150 100 050 000 050 100 150 200 100 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file std_file std_file
inpu2 inpu2 inpuz inpuz
Wi W0
300 300 300 it
250 : 250 250 T
TnTs ™ N Tinits ™
200 200 200 Wits 3 Wite
W7 \ WT
150 150 150 L 5
N \
\ \
100 i 100 100 —gay — 1
050 e S AR LY 05 050 bamm [P S (R K - PR N S
000 000 000
N - \ -
050 s 080 — 050 F - <
; R S \ -
100 ; e 100 100 et
\ - Y
\ - Y L7
150 150 150 Bt .
N - T
\ e \
200 = 200 200
; - -
i input1 inpuat input1 (A input1
100 050 000 050 100 150 200 100 -050 000 050 100 150 o 100 050 000 050 100 150 200 100 050 000 050 100 150 200
std_file std_file
inpu2 inpu2
| , W0
300 — . 300
5 ,
250 . & 250 s
" it 4
! ‘ Tts ™
200 200 FiE
T i
i /
150 150
Vol
L ~
LR STy S
B ¥ e s e 100 b
y I BRI BRREE phnpe Bapes S
PSS S (AN W (R 050 e N
7
000 8 000 =
7 . ~ - :
Y ~
050 - = 050 - —
\ A . =
100 . = 100 > =
150 — 150 <
200 - 200 S
= input1 inputt
100 080 000 050 100 150 200 100 050 000 050 100 150 200

U612 D0ULD0O0O0O0 BpLOOOODOOODOOLDOODLOOOOD 80
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std_file

std_file std_file std_file
ipu2 inpu2 input2 inpu2
3 . 300 \\ 300
250 - 250 \ 250
200 L 200 200 .
N N x
| . s .
150 - 150 150 L .
100 - ] 100 S Epp— 100 1
0s0 FIN S P 050 P S P SOPAS DY P S peRNY PSS S S DU .
000 —~< 000 — 000 / =
i — paal Sanny n
-050 — = 050 = o 050 = E
Loe =t - e 5 .
100 . 100 e 100 Bt -
H N — "
150 ¢ 150 R 150 Bt <
L \ » p .
200 “ 2.00 /’ -200 = E Fa =
' i R . it 5 it } it
100 050 000 050 100 150 200 10 0% 000 050 100 150 200 100 0s0 0o 050 100 150 200 100 050 0o 050 100 150 0
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